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SECOND SEMESTER
ORGANIC CHEMISTRY II A

MSC-202 |[REPEAT]
[USE OMR FOR OBJECTIVE PART]
puration : 3 hrs. Full Marks : 70

(i )

Time : 30 min. Marks : 20
C’IOOSL' Lhe correct ﬂllsu.‘er‘ﬁ'or" f,hefol’ouvi"g; 1X20=20
1. What is the main reduction product of the following compound with NaBH; in

CH\OH?

O O
Cj/k””e:

a. OH OH OH
;'/A\I’/-\NME b = ’LNMe;‘
L L

G (l? oH

1

2. The major product formed in the following reaction is

o
(ﬁ/k‘/”“”‘c AOCHMe,), °
ggs e BN Me,CHOH
HCI
a. NHAG b. NH,
e N “TSCH,0H ”O'*-l 'LCH‘,OH
[ ()
MO, No,
¢ NH, d. NH,
HO “CH,0H g CH,OH
i) B
| =
NH;

NH,

3. The reaction involving the conversion of a carbonyl compound to its corresponding
alkene is known as
a. Clemmensen reduction b. Wolff-Kishner reduction
c. MPV reduction d. Shapiro reaction
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4. Product (A) formed in the following reaction is

(o]

fﬂ\

& N\
of /\r/
\
C.

O

BusSnH

AIBN

b.

5. Choose the appropriate reagent used for the following conversion.

Wl ST —

a. LiALHj, H,O
c. RhCI(PPhs)y, 2/ Benzene

XN N NS
0

b. NaBH,, IH,0O*
d. N:H;, KOH

O?N

6. Oxidation of menthol to formic acid by Jones-reagent is an electron transfer process

involving
a. cight electrons
c. four electrons

7. A’ of the following reaction will be
OH

o
PP

a. PDC/DCM

b. six electrons
d. two electrons

b. PCC/DCM
d. PCC-NaOA¢/DCM

8. Identify the most suitable reagents I & 11 for the followingreactions.

c. NMnQ)»
HOOC
HOOC
i
1Y Sl [P 8 ,«\_[,OH
HE™ s 0PI

a. | = Fetizon's reaagent & 11 = Nn(OA¢)3

. 1= MnO2 & Il = Ph{OAC)

|
o?

oo™

b.1=PCC & 11 = OsO4, NMO
d. I = Fetizon's reaagent & 11 = OsO4,
NMO
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9. Product of the following reaction is

= Product

10. Which one of the following, is known as Normant Cuprate?

a. R:CulMgX b. RCu(CN)ZnX
¢. R:Cu(CN)Liz> d. RaCul.i

11. Reactant A in the following,

./\

" Ph—Br (1eqv.) _ L\L’Ph
0 "Me
b

Pd(PPh,),, KOAc, DMF

" T (L
o ol
(L
O Ph

12, Product B in the following reaction:
OSiMe;,

S /,}
<\‘ a Grubbs cat

| Snmmen
hexane, 55°C
~ then, BuyNF
5 ~ N

a. OH_ Me b.
ol ?
7
C. OH e d.
1 |
/\\
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13. The product A in the following reaction:

Ph Ph Pd(pphj)‘ 10 mol%
/|r o Cul (20 mol %) &
s e Et,NH, réfidx
| S 5| r
a. Ph Ph b. Ph Ph

=
=
Ph
c. d Ph;EPh
|
e O
I =S
=
pn
14. The product A in the I'ollo‘wing reaction:
| |)/’._> H*
oy
e N
L <
i) /i) Home
a (o] b. ([?
~ OH
ru)/\\/ [//\T\OH
B

C (o] d. L/\ \
L | e S

15. Structure of P in the following:

)OK ) OSiMe, —_— s
Ph Ph
a. OH O b. O
X M .y
Ph° ( Ph Ph” r” TPh
Ho'|
“ L0 oMy
Ph™ “]/ “Ph ph/\\/ e
OH -

16, The coenzyme NAD' is known to have derived from

a. Vitamin By b. Vitamin B>
¢. Vitamin Ba d. Vitamin B;
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17. In the biochemical reaction, the enzyme used is -

i = .
CHCHOICOA® + Al ——= CICOCOG « NADH - i

(Lactate) Pyruvate
a. Pyruvate dehydrogenase b.) Lactate dehydrogenase
c. Transferase d. Lactate decarboxylase

18. Which of the following tvpes of specificity of enzyme is considered as the highest
specificity shown by any class of enzyme in the living world?

a. substrate specificity b. geometrical specilicity
c. group specificity d. optical specificity

19. Which of the following, tvpes of specificity of enzyme is considered as the highest
specificity shown by any class of enzyme in the living world?

a. substrate specificity b. geometrical specificity
. group specificity d. optical specificity

20. In the following reaction, which of the reaction intermediates are formed?

CeHs*g —gcn, R"(;’:“ ~ CgHs CH, CH, COOR
o Cl
CeHs~CH ~ CH, CgHy € CH; COOR  CHg & C CH; Cl CgHy CH—CH,
A H g (o D
aB&C b.C&D
. A&DB dA&D
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Time : 2 hrs. 30 mins.

( Descriptive |

[Answer question no.1 & any four (4) from the rest ]

a. What is Clemmensen reduction? Explain with examples.

b. In pinacol-pinacolone rearrangement, it is observed that an alkyl or

methyl group migrates from the adjacent carbon to the carbocation
centre which is already tertiary. Justify. What is the driving force
in the pinacol-pinacolone rearrangement?

Write the suitable reagent and the mechanism of the following
transformation
(

I

Q
\

Y
\\\\_/\

d. Write down the structure of the product:

1.
C.
2. a.
b

( l i) SOCI,, toluene, rt 2
R ii) NaN3, acetone, rt
AcO' ¢ H
“ X00H lii) TFA/H,0, rt

Explain about the sterecochemistry  of heterogencous hydrogenation
citing, examples.

. Whatis Wilkinson catalyst? What is its use explain with examples.

Predict the products formed in the following reactions with suitable

mechanism:
O :
; LiAIH
(i) ] . _

OCH,

(i) 5 Na/ Liq.' NH4
(», C.HoH 7

Marks : 50

334242
=10

3434
=10
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o +2+5
3. a. Whatis the role of tributyltin hydride? Explain with examples. 3+2

=10
b. Predict the product formed in the following reaction?
N
ﬂ’ “Ts
2nBulLi 5
DMF
¢. The Sx2 hvdrolysis of 1-brome-2,2-dimethylpropane (neopentyl
bromide) which is 1e-alkyl halide, is observed to be slow. However, if the
same reaction is carried out under conditions favouring Sx1 mode, the
product obtained is not the expected 2,2-dimethylpropan-1-ol, but 2-
methylbutan-2-ol. Give reasons why?
4. a. Discuss the role of coenzymes in carrying out the biochemical reactions 2434243
=10
b. Name the enzymes in the following biochemical reactions
S =) ;
(i) ('u‘('nr'()((? + COy + ATP === "00CCH,C0C00 + ADP + pji
P s StE Oralo acetate
(i) ('n,('()('()g) == C(ILCHO + CO,
i’_;ru\,ur Acetaldehyde
(iii) Cellulose + 1,0 === D(+)-Glucose
c. Whatis TPP? Give its structure.
d. Write the mechanmsm of the following biochemical reaction.,
Ri  OH
N ® R
C + NAD «B(Enzyme) L ®
7 - Alcohol dehydrogenase _.C=0 + NADH + B
H R: Rz’
5. a. Write the major product of the following reaction with justification 2
B l\ OH MnO,
] ——————=  Product
HO 1 : DCM. KCN
b. Explain the Prevost’s and Woodward’s dihydroxylation reactions with 4
examples.
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c. Write the products of the following reactions with justification.

2+2=4

0} ) (ii) Io)
0__0o I
; i 1) LDA, THF
e Ps AO'Pr)y r 2) PhSeCl
e /l T Torrene" Product . ——— = Product
o - Sy o oluene T 3)™CPBA
OH ‘
5. a. Write the products of the following reactions with mechanism 3+3+4
() =10
j 1) MezCuli o \j
: el EF G°C % - o e P,
()/ ( JHERCG Produdt ( J/ H 1 CH:Bry. Zn —
L.z 2) NHCI (aq) L 2) TiCl,
b. Write the products with justification of the following reactions after
workup process
| o .
T~ T PP
Major Product = SnBu, N 7 SnBuy_ Major Product
200 °C 200°C
c. How to do the following transformation? Explain.
0 0
N H ])-
@ —— Y
N~ B )
7. Write down the product in the following reaction. Give mechanism of the J+4+3
reaction involved. =10

7\ A . AR0SR
) <’}T/ + f?' ii) H,0 5
Me
O S RS KOH (cat)
o N ] ) —wew
i) - 22 o’/' S
s B o /O AN
iii) k\l ‘ l/\ ;- il Pd(PPh,),
i ke o g
,;.,— F~0 NaOH
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8. Complete the following with appropriate mechanism.

OH
) Rj”m =

o o)
Cl
i) EH’ R /%\OEt
~ \/,
iii) k/\[f __HS0 _ 9
COO'BU
i & _ CsOH
\, 12d|chloro
othane
9
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